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class ImprovedRoeFactor(BaseFactor):
def init (self):
BaseFactor. init (self, 'improved roe')

def compute(self, begin_date, end _date):

codes = get_all codes() % # A ¢gROE

all dates = get_trading dates(begin_date=begin_date, end date=end _date)

for code in codes:
update_requests = []
for date in all dates:
1rb = DB_CONN[ 'CWBB_LRB'].find_one(

{'code': code, 'announced date': {'$lte’:

{'$regex': '\d{4}-12-31%'}},
sort=[ ('announced _date', DESCENDING)],
projection={"'parentnetprofit': True}

)
AR EE R, WP

if 1rb is None:
continue

zcfzb = DB_CONN[ 'CWBB_ZCFZB'].find_one(

{'code': code, 'announced date': {'$lte’:

{"'$regex': '\d{4}-12-31%'}},
sort=[ ('announced date', DESCENDING)],
projection={"'sumasset': True})

date}, 'report_date':

date}, 'report_date':

BEMFRAELBEINE 49
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if zcfzb is None:
continue

improved _roe = round(lrb['parentnetprofit'] / zcfzb['sumasset'], 2)

update_requests.append(UpdateOne( % # A ¢yROE
{'code': code, 'date': date},

{'$set': {'code': code, 'date': date, 'roe': improved roe}},
upsert=True))

if len(update_requests) > @:
save_result = self.collection.bulk write(update requests, ordered=False)
print('BERN: %s, BlF: %s, #HAN: %4d, HEHr: %4d' %
(code, self.name, save result.upserted count,
save_result.modified count), flush=True)
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MB = ~— ) CLOSE, T 2
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, FRAtH R AT — R A H
UP = MB + k*STD T #,

k

2

DOWN = MB — k*STD T #
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import traceback

import numpy as np
from pymongo import UpdateOne

from data.data_module import DataModule

from trading.signal.computer.base_signal computer impor
from util.stock util import get all codes

class BollSignalComputer(BaseSignalComputer):

def init_(self):

BaseSignalComputer. init (self,

def compute(self, begin_date, end date):

HEIEEHANTRES
:param begin_date: JirHHA
:param end_date: i HiY

all codes = get_all codes()

dm = DataModule()

N 20
k = 2

for code in all codes:

MignaIComputer‘

'boll signal')
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df daily = dm.get k _data(code, autype='hfq', begin

ﬁbegin_date, end_date=end _date)
# TFEMB, #ETHE, XEHYHPClose

df daily['MID'] = df_daily['close'].rolling(N).mean()

# 11HSTD20

df daily['std'] = df_daily['close'].rolling(N).std()

# 1H5HuP

df daily['UP'] = df_daily['MID'] + k * df _daily['std']

# 1% down

df daily['DOWN'] = df daily['MID'] - k * df daily['std']

# K HIE RS
df daily.set _index(['date'], inplace=True)

# BT A R — L
shifted up = df _daily['UP'].shift(1)
shifted_middle = df_daily[ 'MID'].shift(1)

# LA S B A T B B2 o BRURT R BE R Y LA
ref line = (df_daily['close'] - shifted middle) / (shifted up - shifted middle)

ref_prev = ref_line.shift(1)
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# FR BB N B ME
min_val = ref_line.rolling(10).min() m
# FRBS R) B N SRR AT B e KB
max_leading value = ref _line.rolling(10).apply(lambda vec:
vec[:np.argmin(vec) + 1].max().astype(float), raw=True)

# RSO RIAE R YE
delta = 0.15

# HIWOE S AP SRR S, EOR.

# INFIA) B A AR AT R R Tdelta, S/ MERZENE /D Tdelta, A — A BBIME 7> A B0 1E;

# AETHERAEBE 2 b, FRoR SONEAR AU 2Bk 3 B 7y Fr ez |

# AT — HAERME D T2 T, RO AE 2 /158 % H 58

m_rebound _mask = (abs(min_val) <= delta) & (ref _line > delta) & (ref prev <= delta) & \
(max_leading value > delta)

# RS S DR B Bl
update_requests = []
df daily['m_rebound mask'] = m_rebound mask
df daily = df daily[df daily['m_rebound mask']]
for date in df _daily.index:
doc = {'code': code, 'date': date, 'signal': 'mid _rebound'}
update_requests.append(UpdateOne(
doc, {'$set': doc}, upsert=True

)

if len(update_requests) > 0:
update_result = self.collection.bulk write(update requests, ordered=False)
print('%s, upserted: %4d, modified: %4d' %
(code, update result.upserted count, update result.modified count),
flush=True)
except:
traceback.print_exc()

BB A T ARETINE o I UL 5 PR

ChinaHadoop.cn



J

i

Ej_-

e S S Y ]
B MB: 47— a &9« &4~
B

H g

u A

A

H 24

TE A

H N

m k

RS RAEARE TS 60 I L 8¢ = PR



“WHHL=" &0 T HISEI

BB AT SR ETE m I ==

ChinaHadoop.cn



eI

0 axkxsgTi
1 W 69 B &, 2 AR K
L1 Kk 3f ot a2 8 6 K & 2 b i 43

BB A T ARETINE - 1] =t =

ChinaHadoop.cn



S

AL BT

3 8T @%#T, KA M A A A
FA £, 52 4R R K W E v b E AT

AL
LY
o

I ‘ I| ‘l ||‘ H M ‘Il ‘I ||| I|||I‘ li I‘.u\l\ |||‘| . ||”| I|||I|I T st |I|I | | et ||I| il |I|H il I|||| ”|“‘| |II I|||||

BB A T ARETINE 3 [1[E ==

ChinaHadoop.cn




FE bR A

5 aKET®

B T #&ut <O

B 45 48X g>1I5xL—axk¥E
WG P 4 = AR R A

B 42 (FEA-KEN)KEH

B Rk: FALEAR <3%

A 3R oAt ia e A K E 2 E 4T

B 154+ K4,

B akiz b, 19o4K&K ANk >0
B ok itopatia: 1944KL 4 > 150

BRI AR SRE IS o m L PR

ChinaHadoop.cn



class TomorrowChanceFactor(BaseFactor):

2)

def init (self):
BaseFactor. init_ (self, 'tomorrow chance')

def compute(self, begin_date, end _date):
codes = get all codes() k8 A
dm = DataModule()

for code in codes:

df daily = dm.get k data(code, begin date=begin date, end date=end_date)

if df _daily.index.size ==
continue

# G HBE M

df daily['change'] = df _daily['close'] - df_daily['pre _close']

df daily = df _daily[df daily['change'] < 0]

df daily['last volume'] = df_daily[ 'volume'].shift(1)

df daily.dropna(inplace=True)

df daily['volume _change'] = round(df_daily['volume']/df daily['last volume'],

df daily = df daily[df _daily['volume_change'] > 1.5]

# USRI B 2R SE R A K
df daily['entity'] = round(abs((df _daily['open'] -df_daily['close'])) *

100/df daily[ 'close'], 2)

df daily = df daily[df _daily['entity'] < 3]
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# KEBIF I RIERE H 2 FigAT
df daily.set_index(['date'], 1, inplace=True)

update_requests = []
for date in df_daily.index:

&8 LA
# REEEEEH 2 FigfT

pre_close = df_daily.loc[date]['pre_close']
df minute = dm.get k data(code, period='M1', begin_date=date,

end_date=date)

df minute = df _minute[df_minute['close'] > pre_close]
if df _minute.index.size > 150:
update_requests.append(UpdateOne({
‘code': code, 'date': date},
{'$set': {'code': code, 'date': date}},
upsert=True))

if len(update_requests) > O:
save_result = self.collection.bulk write(update requests, ordered=False)
print ('L : %s, KT : %s, HEAN: %4d, FHr: %4d' %
(code, self.name, save_result.upserted_count,
save_result.modified count), flush=True)
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